% B--

(% 51 H ] AL 2

<A R OO B> =tecy
© Wity LEITE (D) V=gp g Wi V] Gl AT
T3 L¥—U BRABT BEHW B B S 8 VA
U=q¢ |L] W=qV | ] -- _E""’gi‘_d S S
B ISl I 2 I
EBHOMS E LBIFEV & OB I A7 TR
_ _Vv X JYEH O
V=Ed | , E-= ; =0
(B4 E oA [N/C] 1E [Vim] L bHEH5)
¢A
O HEWHQDEDY DER / \
- T ‘
¢(r)=kT OYQ >y

(MEfRIE r =00 ZEALOILAER & T 5,
EERIIT om0 D EE,)
FEBEAE (2) BN EHEBE XL —DBRRLNS,
wElFPE [(F6mB] BEEarFTorh— (FEHPE 120 X—TFT)
sk sk sk skoskoskosk sk sk skoskosk skoskoskosk sk sk sk skosk sk sk sk sk skoskosk sk sk sk sk sk sk sk skosk sk sk sk sk sk
LAR— MEE FE5EE RO OERKZY) 0 Blo THRH L Z W)
B CHETAIRE L, B2 LMTEMNEDITRZ L !

1 RKPBORETRHALEZLT, BELESZLEZF DL, RNV TIWA, XFET)
2 KHOWETRHEAEAREZHWEREZBESTLREY, ZhaEz X, E2NnHER

WEDREELWRIEZE-> TH XV, P ETITAS TERZTES Z &, B - BIRARE )

- M3® #EXS (7 —a ) BT HHEW LEMAEV & ORMREET, [FREORX (24.7)]

© i (BF) V EELOMSE oBREET, [EHREOX (24.9)]
® HEME [C] 0L OBMOXNEET, HREZF=0LT 5, [HBEOKX (24.10)]

@ #HFRE 112 =T OEEMNE A2 %% 2 L,

4 HRE U N—VoMBEE B2 A K % K,
M5 FHOKDLXHRIRE 80 [N/IC] D—EEREBILRNH 5, BRI L EEBMEDTHHNTH S,

AB 1 & CD M FEEfIX 0.5 [m], BC EDMHREIL 0.3 [m] THh 5,
@ FHBEMAEORTEND, HbEMMROSLEND, EEHONIETHIT L)
@ AB 1], BC 4], CD MO &ENM#V a5, Vpe» Vep ZHMETRD L, A~ B
@ 3.0 [C] OEBEMESANLEB ETEAL L EHERS (7
—u 7)) OUIAEW, g 28l TRD X,
@ —20 [C] OAEMEHRD NLEAETTEAL L X, FHFEXSN
(7—u 7)) OLIAEFEW A ZEETRD &,

Y

\
\ 4

A 4
A 4

o ﬁﬁ 6 %I**% 112 /\"—\‘/{ﬁigé ﬁﬂ% A.24®€_’//§2 J:o
7 BRE 112 X—UHERME A28 E 2 X,
-8 B 113 N—UEE B B.24®IC oW T, IROESEE % X,

a) da, fpiRdE, b Vapzaskk, o W, 2ko k.,



~8) (@M 13:00) ZXT5FDH KEIILNTRD, SRR 2 SERKE SEIE (EED

A (2% W [R) ZEES K4
BECHAET HMEIL, BXCOUTEEOTFEIL !
FlFﬁ 1

-2 R
VA

3 @ ) ©)

@ EBHOHNL=

- [ 4 Da) b) L BN E VDX &b BMAENOIT
c) VAB = [ ]
D
. Vge = C3
B| CJ.
Vep = L]
A.. VAD = I: :|
d) Wcjfl_é =
(e :Vpp =¢p —@a =—(fa —Pp) = Vap TH5.)
M5 Ofc b B EV VA - , BB BENOME A
@V g = [l iMew b)
Vec = [ I, Vep= [ ] :
OWpLp= L] : ® ©
@OWp_,p = L] :
~M7®a) Pa = L]
b) U= L]
f18®a) ¢, = -15x10" [V 1,
-3
o= 9.0x109[N.m2/c2]xM= ~4.0x10° [V ]
4.5[m]
b) Vap = #a —%p =-15x10"[V]- (-4.0x10°[V]) =-1.1x10"[ V ]
d) Wap = qVap =6.0x107°[C]x (-1.1x107[V]) = —66 [J ]
FHZDLR—FERLDHDIT IREH] 57,

TNLISNTS, ZOHEREOTEHERE % R LT,




